

4. FIND A MOBIUS TRANSFORMATION F SUCH THAT $F(0) = 0$, $F(1) = 1$, $F(x) = 2$, OR EXPLAIN WHY SUCH A TRANSFORMATION

4. FIND A MOBIUS TRANSFORMATION F SUCH THAT $F(0) = 0$, $F(1) = 1$, $F(x) = 2$, OR EXPLAIN WHY SUCH A TRANSFORMATION

MOBIUS TRANSFORMATIONS, ALSO KNOWN AS LINEAR FRACTIONAL TRANSFORMATIONS, ARE FUNDAMENTAL IN COMPLEX ANALYSIS, GEOMETRIC FUNCTION THEORY, AND VARIOUS APPLICATIONS IN MATHEMATICS AND ENGINEERING. THEY ARE FUNCTIONS OF THE FORM $F(z) = (az + b) / (cz + d)$, WHERE a, b, c , AND d ARE COMPLEX NUMBERS WITH $ad - bc \neq 0$. ONE INTERESTING PROBLEM INVOLVES DETERMINING WHETHER A MOBIUS TRANSFORMATION EXISTS THAT SATISFIES SPECIFIC MAPPING CONDITIONS. IN PARTICULAR, WE MAY ASK: CAN WE FIND A MOBIUS TRANSFORMATION F SUCH THAT $F(0) = 0$, $F(1) = 1$, AND $F(x) = 2$ FOR SOME PARTICULAR VALUE OF x ? OR, MORE GENERALLY, WHY SUCH A TRANSFORMATION MAY OR MAY NOT EXIST?

THIS ARTICLE EXPLORES THIS PROBLEM STEP-BY-STEP, ANALYZING THE CONDITIONS NEEDED TO FIND SUCH A TRANSFORMATION AND EXPLAINING THE THEORETICAL CONSTRAINTS THAT DETERMINE THE POSSIBILITY OF EXISTENCE.

UNDERSTANDING MOBIUS TRANSFORMATIONS

DEFINITION AND PROPERTIES

A MOBIUS TRANSFORMATION $F(z)$ IS A COMPLEX FUNCTION OF THE FORM:

- $F(z) = (az + b) / (cz + d)$
- WHERE $a, b, c, d \in \mathbb{C}$ AND $ad - bc \neq 0$

SOME KEY PROPERTIES INCLUDE:

- CONFORMAL: PRESERVES ANGLES LOCALLY.
- BIJECTIVE: ONE-TO-ONE AND ONTO ON THE EXTENDED COMPLEX PLANE (INCLUDING ∞).
- PRESERVES CIRCLES: CIRCLES AND LINES ARE MAPPED TO CIRCLES AND LINES.

BASIC MAPPING CONDITIONS

GIVEN THREE DISTINCT POINTS IN THE EXTENDED COMPLEX PLANE, THERE IS A UNIQUE MOBIUS TRANSFORMATION MAPPING THESE POINTS TO ANY OTHER THREE DISTINCT POINTS. THIS PROPERTY IS CENTRAL TO OUR PROBLEM BECAUSE IT PROVIDES A WAY TO CONSTRUCT TRANSFORMATIONS EXPLICITLY WHEN THE CONDITIONS ARE COMPATIBLE.

FORMULATING THE PROBLEM

SUPPOSE WE WANT TO FIND A MOBIUS TRANSFORMATION $F(z)$ SUCH THAT:

- $F(0) = 0$

- $F(1) = 1$
- $F(x) = 2$

WHERE x IS A COMPLEX NUMBER, POSSIBLY REAL, AND NOT EQUAL TO 0 OR 1 (TO ENSURE THE POINTS ARE DISTINCT).

THE QUESTION IS: DOES SUCH A TRANSFORMATION EXIST? IF YES, HOW CAN IT BE CONSTRUCTED? IF NOT, WHY IS IT IMPOSSIBLE?

CONSTRUCTING THE TRANSFORMATION: STEP-BY-STEP APPROACH

STEP 1: GENERAL FORM OF THE TRANSFORMATION

START BY ASSUMING THE GENERAL FORM:

$$F(z) = (az + b) / (cz + d), \text{ WITH } ad - bc \neq 0.$$

OUR GOAL IS TO DETERMINE CONSTANTS a , b , c , AND d SUCH THAT THE MAPPING CONDITIONS HOLD.

STEP 2: APPLYING THE KNOWN CONDITIONS

APPLYING THE CONDITIONS:

$$1. F(0) = 0 \Rightarrow (a \cdot 0 + b) / (c \cdot 0 + d) = 0 \Rightarrow b/d = 0 \Rightarrow b = 0$$

$$2. F(1) = 1 \Rightarrow (a \cdot 1 + 0) / (c \cdot 1 + d) = 1 \Rightarrow a / (c + d) = 1$$

$$3. F(x) = 2 \Rightarrow (a \cdot x + 0) / (c \cdot x + d) = 2 \Rightarrow ax / (cx + d) = 2$$

FROM THE FIRST CONDITION, WE HAVE $b = 0$, SIMPLIFYING THE TRANSFORMATION TO:

$$F(z) = (az) / (cz + d)$$

NOW, FROM THE SECOND CONDITION:

$$a / (c + d) = 1 \Rightarrow a = c + d$$

FROM THE THIRD CONDITION:

$$ax / (cx + d) = 2$$

SUBSTITUTE $a = c + d$:

$$(c + d)x / (cx + d) = 2$$

STEP 3: SOLVING FOR THE CONSTANTS

EXPRESS THE ABOVE AS:

$$(c + d)x = 2(cx + d)$$

EXPAND BOTH SIDES:

$$c x + d x = 2c x + 2d$$

BRING ALL TO ONE SIDE:

$$c x + d x - 2c x - 2d = 0$$

GROUP SIMILAR TERMS:

$$(c x - 2c x) + (d x - 2d) = 0$$

SIMPLIFY:

$$-c x + d x - 2d = 0$$

FACTOR:

$$c x - 2d + d x = 0$$

REWRITE:

$$(c x + d x) - 2d = 0$$

FACTOR X:

$$x(c + d) - 2d = 0$$

RECALL FROM EARLIER THAT $A = c + d$, SO:

$$x A - 2d = 0$$

EXPRESS D IN TERMS OF A AND C:

$$d = A - c$$

SUBSTITUTE INTO THE EQUATION:

$$x A - 2(A - c) = 0$$

EXPAND:

$$x A - 2A + 2c = 0$$

GROUP TERMS:

$$(x A - 2A) + 2c = 0$$

FACTOR:

$$A(x - 2) + 2c = 0$$

EXPRESS C IN TERMS OF A:

$$2c = -A(x - 2) \quad c = -\frac{A}{2}(x - 2)$$

RECALL THAT $A = c + d$, AND $d = A - c$, SO:

$$d = A - c = A - \left[-\frac{A}{2}(x - 2) \right] = A + \frac{A}{2}(x - 2)$$

FACTOR OUT A:

$$D = A \left[1 + (x - 2)/2 \right] = A \left[(2 + x - 2) / 2 \right] = A (x / 2)$$

NOW, THE KEY IS TO VERIFY WHETHER THE CONSTANTS SATISFY THE INITIAL CONDITIONS AND THE INVERTIBILITY CONDITION $AD - BC \neq 0$.

EXISTENCE CONDITIONS AND CONSTRAINTS

STEP 4: CHECKING THE DETERMINANT CONDITION

RECALL THAT THE DETERMINANT $AD - BC \neq 0$ IS NECESSARY FOR THE TRANSFORMATION TO BE WELL-DEFINED AND INVERTIBLE.

GIVEN THE CONSTANTS:

- $B = 0$
- A REMAINS AS A PARAMETER
- $C = - (A/2)(x - 2)$
- $D = A (x / 2)$

CALCULATE $AD - BC$:

$$AD - BC = A D - 0 C = A D$$

SUBSTITUTE D :

$$A D = A \left[A (x / 2) \right] = A^2 (x / 2)$$

FOR THE TRANSFORMATION TO BE VALID, THIS MUST NOT BE ZERO:

$$A^2 (x / 2) \neq 0$$

ASSUMING $A \neq 0$, THE KEY IS THE FACTOR $x / 2$:

- IF $x \neq 0$, THEN $x / 2 \neq 0$, AND THE DETERMINANT IS NON-ZERO PROVIDED $A \neq 0$.
- IF $x = 0$, THEN THE DETERMINANT IS ZERO, AND THE TRANSFORMATION CANNOT BE INVERTIBLE; THUS, NO SUCH TRANSFORMATION EXISTS IN THAT CASE.

STEP 5: FINAL CONDITIONS AND INTERPRETATION

- FOR $x \neq 0$, WE CAN CHOOSE ANY NON-ZERO A , AND THE CORRESPONDING TRANSFORMATION EXISTS.
- FOR $x = 0$, NO SUCH TRANSFORMATION EXISTS BECAUSE THE DETERMINANT BECOMES ZERO, VIOLATING THE INVERTIBILITY CONDITION.

THEREFORE, THE EXISTENCE OF THE MOBIUS TRANSFORMATION F SUCH THAT $F(0) = 0$, $F(1) = 1$, AND $F(x) = 2$ DEPENDS CRITICALLY ON THE VALUE OF x .

- WHEN $x \neq 0$, SUCH A TRANSFORMATION CAN BE EXPLICITLY CONSTRUCTED.
- WHEN $x = 0$, IT IS IMPOSSIBLE TO FIND SUCH A TRANSFORMATION BECAUSE IT WOULD VIOLATE THE FUNDAMENTAL INVERTIBILITY CRITERION.

EXPLICIT FORMULA FOR THE TRANSFORMATION WHEN $x \neq 0$

CHOOSING A CONVENIENT NON-ZERO VALUE FOR A (FOR EXAMPLE, $A = 1$), THE CONSTANTS ARE:

$$\begin{aligned} - C &= -(1/2)(x - 2) \\ - D &= (x / 2) \end{aligned}$$

THE TRANSFORMATION BECOMES:

$$F(z) = (A z) / (C z + D) = z / [-(1/2)(x - 2) z + (x/2)]$$

SIMPLIFY THE DENOMINATOR:

$$-(1/2)(x - 2) z + (x/2) = (1/2)[-(x - 2) z + x]$$

THUS,

$$F(z) = z / [(1/2)(-(x - 2) z + x)] = (2 z) / [-(x - 2) z + x]$$

THIS EXPLICIT FORM CONFIRMS THE CONSTRUCTION AND DEMONSTRATES HOW THE PARAMETERS RELATE TO THE INITIAL CONDITIONS AND THE CHOSEN POINT x .

SUMMARY AND KEY TAKEAWAYS

- EXISTENCE DEPENDS ON THE VALUE OF x : FOR THE SPECIFIED CONDITIONS, A MOBIUS TRANSFORMATION EXISTS IF AND ONLY IF $x \neq 0$.
- CONSTRUCTION IS EXPLICIT: WHEN $x \neq 0$, THE TRANSFORMATION CAN BE EXPLICITLY CONSTRUCTED USING THE PARAMETERS DERIVED ABOVE.
- SPECIAL CASE $x = 0$: NO SUCH TRANSFORMATION EXISTS BECAUSE IT WOULD VIOLATE THE INVERTIBILITY CRITERION (DETERMINANT

FREQUENTLY ASKED QUESTIONS

HOW DO I DETERMINE A $M_{\mathbb{C}}$ BIUS TRANSFORMATION F THAT SATISFIES $F(0) = 0$, $F(1) = 1$, AND $F(x) = 2$?

TO FIND SUCH A $M_{\mathbb{C}}$ BIUS TRANSFORMATION, SET UP THE GENERAL FORM $F(z) = (az + b)/(cz + d)$ AND USE THE GIVEN POINTS TO CREATE EQUATIONS: $F(0) = b/d = 0$, $F(1) = (a + b)/(c + d) = 1$, AND $F(x) = 2$ FOR SOME x . SOLVING THESE SIMULTANEOUSLY HELPS DETERMINE THE PARAMETERS A, B, C, D .

IS IT ALWAYS POSSIBLE TO FIND A $M_{\mathbb{C}}$ BIUS TRANSFORMATION PASSING THROUGH THREE SPECIFIED POINTS WITH GIVEN IMAGES?

YES, ANY THREE DISTINCT POINTS IN THE COMPLEX PLANE CAN BE MAPPED TO ANY OTHER THREE DISTINCT POINTS VIA A $M_{\mathbb{C}}$ BIUS TRANSFORMATION, DUE TO THEIR CONFORMAL AND BIJECTIVE PROPERTIES. FOR THE SPECIFIC POINTS $0, 1$, AND x , AND IMAGES $0, 1$, AND 2 , EXISTENCE DEPENDS ON WHETHER THE IMAGES ARE DISTINCT AND THE POINTS ARE APPROPRIATELY CHOSEN.

WHY MIGHT THERE BE NO M -BIUS TRANSFORMATION F SUCH THAT $F(0)=0$, $F(1)=1$, AND $F(x)=2$?

BECAUSE M -BIUS TRANSFORMATIONS ARE DETERMINED BY THREE POINT-IMAGE PAIRS, IF THE CONDITIONS LEAD TO CONFLICTING CONSTRAINTS—SUCH AS ATTEMPTING TO MAP THREE POINTS TO IMAGES THAT CAN'T BE ACHIEVED SIMULTANEOUSLY—SUCH A TRANSFORMATION MAY NOT EXIST. IN PARTICULAR, IF THE POINTS OR IMAGES VIOLATE THE CONDITIONS FOR A CONFORMAL AUTOMORPHISM, NO SUCH F EXISTS.

CAN YOU EXPLAIN THE PROCESS OF VERIFYING WHETHER A M -BIUS TRANSFORMATION EXISTS FOR SPECIFIC POINT-IMAGE MAPPINGS?

YES, THE PROCESS INVOLVES SETTING UP EQUATIONS BASED ON THE GENERAL FORM OF THE TRANSFORMATION AND SOLVING FOR PARAMETERS TO SATISFY THE GIVEN MAPPINGS. IF THE EQUATIONS ARE CONSISTENT AND YIELD A SOLUTION, THEN SUCH A M -BIUS TRANSFORMATION EXISTS; OTHERWISE, IT DOES NOT.

WHAT ARE THE KEY PROPERTIES OF M -BIUS TRANSFORMATIONS THAT HELP DETERMINE IF ONE CAN MAP SPECIFIC POINTS TO SPECIFIC IMAGES?

KEY PROPERTIES INCLUDE THEIR CONFORMALITY, BIJECTIVITY, AND THE FACT THAT THEY ARE UNIQUELY DETERMINED BY THREE POINT-IMAGE PAIRS. THESE PROPERTIES ALLOW US TO CONSTRUCT OR RULE OUT TRANSFORMATIONS BY CHECKING WHETHER THE GIVEN MAPPINGS SATISFY THE NECESSARY CONDITIONS FOR A M -BIUS TRANSFORMATION.

ADDITIONAL RESOURCES

FIND A M -BIUS TRANSFORMATION F SUCH THAT $F(0) = 0$, $F(1) = 1$, $F(x) = 2$, OR EXPLAIN WHY SUCH A TRANSFORMATION CANNOT EXIST

WHEN EXPLORING THE FASCINATING WORLD OF M -BIUS TRANSFORMATIONS, ONE NATURALLY ENCOUNTERS QUESTIONS ABOUT THEIR ABILITY TO MAP SPECIFIC POINTS IN THE COMPLEX PLANE TO DESIRED IMAGES. AMONG THESE, A COMMON PROBLEM IS: "FIND A M -BIUS TRANSFORMATION F SUCH THAT $F(0) = 0$, $F(1) = 1$, AND $F(x) = 2$ ". ALTERNATIVELY, IT IS EQUALLY INSIGHTFUL TO UNDERSTAND WHY SUCH A TRANSFORMATION MAY OR MAY NOT EXIST. THIS ARTICLE OFFERS A COMPREHENSIVE GUIDE TO APPROACHING THIS PROBLEM, EXPLORING THE UNDERLYING PRINCIPLES, STEP-BY-STEP SOLUTION STRATEGIES, AND THE KEY REASONS THAT DETERMINE THE EXISTENCE OR IMPOSSIBILITY OF SUCH A TRANSFORMATION.

UNDERSTANDING M -BIUS TRANSFORMATIONS

BEFORE DELVING INTO THE SPECIFIC PROBLEM, IT'S ESSENTIAL TO REVISIT WHAT M -BIUS TRANSFORMATIONS ARE AND THEIR FUNDAMENTAL PROPERTIES.

WHAT IS A M -BIUS TRANSFORMATION?

A M -BIUS TRANSFORMATION (ALSO CALLED A LINEAR FRACTIONAL TRANSFORMATION) IS A FUNCTION OF THE FORM:

$$F(z) = \frac{az + b}{cz + d}$$

WHERE $(a, b, c, d) \in \mathbb{C}$, AND $(ad - bc) \neq 0$.

KEY PROPERTIES:

- THEY ARE CONFORMAL (ANGLE-PRESERVING) WHEREVER DEFINED.
- THEY MAP CIRCLES AND LINES IN THE COMPLEX PLANE TO CIRCLES OR LINES.

- THEY ARE BIJECTIONS FROM THE EXTENDED COMPLEX PLANE $\widehat{\mathbb{C}}$ ONTO ITSELF.

BASIC CONSTRAINTS AND DEGREES OF FREEDOM

GIVEN THREE POINTS IN THE COMPLEX PLANE, A $Möb$ TRANSFORMATION IS UNIQUELY DETERMINED UNLESS THE POINTS ARE MAPPED TO THE SAME IMAGE OR THE CONDITIONS ARE INCONSISTENT. THE KEY IDEA IS THAT $Möb$ TRANSFORMATIONS ARE DETERMINED BY THEIR ACTION ON THREE POINTS.

THE CORE PROBLEM: MAPPING SPECIFIC POINTS TO SPECIFIC IMAGES

THE PROBLEM WE CONSIDER INVOLVES FINDING A $Möb$ TRANSFORMATION f SUCH THAT:

- $f(0) = 0$
- $f(1) = 1$
- $f(x) = 2$

WHERE x IS A COMPLEX NUMBER NOT NECESSARILY EQUAL TO 0 OR 1.

THIS IS A CLASSIC INTERPOLATION PROBLEM: CAN WE FIND A $Möb$ TRANSFORMATION SATISFYING THESE THREE POINT-MAPPING CONDITIONS?

STEP-BY-STEP APPROACH TO FINDING THE TRANSFORMATION

1. RECOGNIZE THE FIXED POINTS

GIVEN THE CONDITIONS:

- $f(0) = 0$
- $f(1) = 1$

THESE IMPLY THAT 0 AND 1 ARE FIXED POINTS OF f .

2. DEDUCE THE FORM OF f

$Möb$ TRANSFORMATIONS THAT FIX 0 AND 1 HAVE A PARTICULAR FORM. LET'S EXPLORE WHAT THIS FORM MIGHT BE.

SUPPOSE $f(z)$ FIXES 0 AND 1:

- $f(0) = 0$
- $f(1) = 1$

SINCE THESE ARE FIXED POINTS, THE TRANSFORMATION MUST SATISFY:

$$f(0) = \frac{a \cdot 0 + b}{c \cdot 0 + d} = \frac{b}{d} = 0 \implies b = 0$$

SIMILARLY,

$$f(1) = \frac{a \cdot 1 + 0}{c \cdot 1 + d} = \frac{a}{c + d} = 1 \implies a = c + d$$

NOW, THE GENERAL FORM SIMPLIFIES TO:

$$f(z) = \frac{a z}{c z + d}$$

WITH $(b=0)$, AND $(a = c + d)$.

3. SIMPLIFY USING THE FIXED POINTS

SINCE $(A = C + D)$, WE CAN WRITE:

$$[F(z) = \frac{(C + D) z}{C z + D}]$$

OUR GOAL IS TO DETERMINE (C) AND (D) SUCH THAT $(F(x) = 2)$.

4. APPLY THE THIRD CONDITION: $(F(x) = 2)$

PLUGGING $(z = x)$:

$$[F(x) = \frac{(C + D) x}{C x + D} = 2]$$

CROSS-MULTIPLIED:

$$[(C + D) x = 2(C x + D)]$$

EXPAND:

$$[C x + D x = 2 C x + 2 D]$$

BRING ALL TO ONE SIDE:

$$[C x + D x - 2 C x - 2 D = 0]$$

SIMPLIFY:

$$[(C x - 2 C x) + (D x - 2 D) = 0]$$

$$[-C x + D x - 2 D = 0]$$

GROUP:

$$[(-C x + D x) = 2 D]$$

FACTOR:

$$[x (-C + D) = 2 D]$$

NOW, EXPRESS (D) IN TERMS OF (C) :

$$[x (D - C) = 2 D]$$

REARRANGED:

$$[x D - x C = 2 D]$$

BRING ALL (D) TERMS TO ONE SIDE:

$$[x D - 2 D = x C]$$

$$[D (x - 2) = x C]$$

THEREFORE:

$$[D = \frac{x C}{x - 2}]$$

5. EXPRESS (A) , (C) , AND (D)

RECALL $(A = C + D)$:

$$\left[A = C + \frac{C}{x - 2} = C \left(1 + \frac{x}{x - 2} \right) \right]$$

SIMPLIFY THE EXPRESSION INSIDE PARENTHESES:

$$\left[1 + \frac{x}{x - 2} = \frac{x - 2 + x}{x - 2} = \frac{2x - 2}{x - 2} \right]$$

So,

$$\left[A = C \cdot \frac{2x - 2}{x - 2} \right]$$

NOW, THE TRANSFORMATION:

$$\left[F(z) = \frac{A z}{C z + D} \right]$$

BECOMES:

$$\left[F(z) = \frac{\left(C \cdot \frac{2x - 2}{x - 2} \right) z}{C z + \frac{C}{x - 2}} \right]$$

FACTOR OUT (C) :

$$\left[F(z) = \frac{\frac{2x - 2}{x - 2} C z}{C z + \frac{C}{x - 2}} \right]$$

DIVIDE NUMERATOR AND DENOMINATOR BY (C) :

$$\left[F(z) = \frac{\frac{2x - 2}{x - 2} z}{z + \frac{1}{x - 2}} \right]$$

FINAL EXPRESSION AND CONDITIONS FOR EXISTENCE

THE TRANSFORMATION SIMPLIFIES TO:

$$\left[F(z) = \frac{\left(\frac{2x - 2}{x - 2} \right) z}{z + \frac{1}{x - 2}} \right]$$

KEY OBSERVATIONS:

- THE TRANSFORMATION IS WELL-DEFINED PROVIDED THE DENOMINATOR IS NOT ZERO, I.E., $(z + \frac{1}{x - 2} \neq 0)$.
- THE $M_{\mathbb{P}^1}$ BIUS TRANSFORMATION IS UNIQUELY DETERMINED BY THESE CONDITIONS, ASSUMING $(x \neq 2)$ (TO AVOID DIVISION BY ZERO).

WHEN DOES SUCH A TRANSFORMATION EXIST?

IN THE DERIVATION ABOVE, WE ASSUMED THE FIXED POINTS AT 0 AND 1, AND THEN ENFORCED $(F(x) = 2)$. THE CRITICAL POINT IS WHETHER THE INITIAL CONDITIONS AND THE VALUE AT (x) ARE COMPATIBLE.

COMPATIBILITY CONDITIONS:

- FOR THE TRANSFORMATION TO EXIST, THE THREE POINTS $(\{0, 1, x\})$ MUST BE MAPPED TO $(\{0, 1, 2\})$ VIA SOME $M_{\mathbb{P}^1}$ BIUS TRANSFORMATION.
- SINCE $M_{\mathbb{P}^1}$ BIUS TRANSFORMATIONS ARE DETERMINED BY THEIR ACTION ON THREE POINTS, THE KEY QUESTION REDUCES TO WHETHER THE CROSS-RATIO IS PRESERVED.

CROSS-RATIO CONSIDERATION:

THE CROSS-RATIO OF FOUR POINTS (z_1, z_2, z_3, z_4) IS:

$$\text{CR}(z_1, z_2; z_3, z_4) = \frac{(z_1 - z_3)(z_2 - z_4)}{(z_1 - z_4)(z_2 - z_3)}$$

MOBIUS TRANSFORMATIONS PRESERVE CROSS-RATIOS. THEREFORE, THE FOLLOWING RELATION MUST HOLD:

$$\text{CR}(0, 1; x, \infty) = \text{CR}(F(0), F(1); F(x), \infty)$$

GIVEN THAT:

$$\text{CR}(0, 1; x, \infty) = \frac{(0 - x)(1 - \infty)}{(0 - \infty)(1 - x)} = -\frac{x}{1 - x}$$

$$F(0) = 0, F(1) = 1, F(x) = 2$$

THE CROSS-RATIO BECOMES:

$$\text{CR}(0, 1; 2, \infty) = \frac{(0 - 2)(1 - \infty)}{(0 - \infty)(1 - 2)} = -2$$

4 Find A Mobius Transformation F Such That F 0 0 F 1 1 F X 2 Or Explain Why Such A Transformation

4 Find A Mobius Transformation F Such That F 0 0 F 1 1 F X 2 Or Explain Why Such A Transformation

Related Articles

- [A Standard Painkiller Is Known To Bring Relief In 3. 5 Minutes On Average \(\). A New Painkiller Is Hypothesized](#)
- [When Preparing A Dilute Solution From A More Concentrated One, Be Sure To Carry Out The Necessary Calculations](#)
- [Read The Sentence. Each Of The Uncles Had Lost Invitation. Which Pronoun Agrees With The Underlined Indefinite](#)

[Back to Home](#)